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?ﬁg TREOBBOEIENDRES TRZEDHEEILADKRES TREOBIBDEIENDKRES TREDHEBRSIENADKRES
&5 X 4 ﬁs{ Tﬂﬁuﬁﬁ‘(anf)ﬂﬁﬁiﬁ 73(&3(5’*)‘5 X 4 Th*ﬁf:é%ﬂ;(?ﬁ;k? '?r’rf 73(&3(5’*)‘5 B 4 .(%r,j J:ﬂﬁﬁt\(z)d)tt.% 7‘1(@3(;?)3 E 4 J:ﬂﬁﬁt\(z)d)tt.% ﬁlj 71(3;%?)3
; 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~ - - -
zh st 1.00 1000 ~ 477 59.39 | #n4 | 000 ~ 000 1.69 9.06 zhst 1.00 | .00 ~ 5.00 59.39 | ThS | 500 ~ 5.00 | 1.69 9.06
P 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~
zh st 1.00 | 000 ~ 567 70.81 | Fhs | 0oo ~ 567|177 9.46 zhst 1.00 | 5.00 ~ 6.30 70.81 | #hS | 5.00 ~ 630 1.77 9.46
3 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 {000 ~ 757 96.81 | N4 | 000 ~ 757|206 11.03 zhst 1.00 | 500 ~ 1030 96.81 | Fhds | 5,00 ~ 1030| 2.06 11.03
4 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 1 000 ~ 663 83.61 | Fhs | 0oo ~ o000 1.67 8.95 zhst 1.00 | 6.00 ~ 810 83.61 | TnS | 500 ~ 810 | 1.67 8.95
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E# 2% - -~ - -[3mERBZS -~
zh st 1.00 1 000 ~ 638 80.29 | Fhs | 000 ~ 638)| 1.74 9.29 zhst 1.00 | 5.00 ~ 7.60 80.29 | ThS | 500 ~ 750 | 1.74 9.29
5 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E#8 2% - -~ - -[3mERBZS -~
zh st 1.00 1000 ~ 748 95.54 | #n4 | 0oo ~ 748 1.80 9.64 zhst 1.00 | 5.00 ~ 9.80 95.54 | ThS | 500 ~ 9.80 | 1.80 9.64
- 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%# 2% - -~ - -[3mERBZS -~
zh st 1.00 1 000 ~ 643 80.98 | Fhs 000 ~ o000 161 8.60 zhst 1.00 | 6.00 ~ 810 80.98 | TnLs | 5.00 ~ 810 | 1.61 8.60
3 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 606 76.01 | Fhs | 0oo ~ o000 1.68 9.01 zhst 1.00 | 6.00 ~ 7.00 76.01 | #hs | 5.00 ~ 700 | 1.68 9.01
9 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%# 2% - -~ - -[3mERBZS -~
zh st 1.00 1 000 ~ 544 67.91 | NS | 000 ~ 544 | 1.88 10.04 zhst 1.00 | 6.00 ~ 6.20 67.91 | =hs | 500 ~ 620 1.88 10.04
10 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 502 62.51 | EnRS | 000 ~ 502|202 10.79 zhst 1.00 | 6.00 ~ 6.20 62.51 | =hds | 500 ~ 620 202 10.79
17 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%# 2% - -~ - -[3mERBZS -~
zh st 1.00 1000 ~ 579 7241 | Fhs | 0oo ~ o000 171 913 zhst 1.00 | .00 ~ 6.60 7241 | Fhs | 5.00 ~ 650 1.71 9.13
19 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~
zh st 1.00 1000 ~ 115 18.90 | =04 | 000 ~ 1.15| 2.86 15.33 zhst 1.00 | .00 ~ 5.00 18.90 | =hdst | 500 ~ 5.00| 2.86 15.33
13 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%E#8 2% - -~ - -[3mERBZS -~
zh st 1.00 | 000 ~ 462 57.54 | FnS | 000 ~ 462| 1.87 10.01 zhst 1.00 | .00 ~ 5.00 57.54 | =nS | 500 ~ 500 | 1.87 10.01
14 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%#8 2% - -~ - -[3mERBZS -~
zh st 1.00 1 000 ~ 610 76.47 | Fhs | 000 ~ 610 1.94 10.40 zhst 1.00 | 6.00 ~ 7.60 76.47 | FhS | 5.00 ~ 760 | 1.94 10.40
15 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%E#8 2% - -~ - -[3mERBZS -~
zh s 1.00 1000 ~ 584 73.06 | Fhs | 0.00 ~ 0.00| 1.69 9.06 zhs 1.00 | 500 ~ 6.60 73.06 | FnLSY | .00 ~ 6.60| 1.69 9.06
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&5 X 4 ;.%;é)f Tﬂﬁb\(ﬁ)wﬂli%ﬁ 73&3%‘5 R 4 Tﬂﬁﬂg\%‘z((g;k$ ‘(.%;a;f 73&3%‘5 X 4 ;.g,‘ma; J:ﬂﬁuﬁﬁ‘(i)a)tt% jj(ﬁ?f)é X 4 J:ﬂﬁuﬁﬁ‘(i)a)tt% ‘(.%.‘m? ﬂ(ﬁzﬁé
16 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~ - - -

zh st 1.00 1000 ~ 534 66.59 | NS | 000 ~ 534 | 1.76 9.43 zhst 1.00 | 500 ~ 580 66.59 | =hs | 500 ~ 580 1.76 9.43
I 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - [ 3mERBZS -~

zh st 1.00 | 000 ~ 742 94.71 | RS | 000 ~ 742 2.05 10.96 zhst 1.00 | 500 ~ 1000 94.71 | Fhds | 5,00 ~ 1000| 2.05 10.96
18 100kN/mZE#BZ5| 1.00 000 ~ 005| 100.75 |3m&EEZ5 -~ - - -| 100kN/Mi%EEZ22 | 1.00 | 1095 ~ 1110 100.75 |3mEEZ 3 -~

zhs 1.00 | 005 ~ 784 100.00 | Fhs 000 ~ 784|206 11.00 zhist 1.00 | 500 ~ 1095 100.00 | Fhs | 500 ~ 1110| 206 11.00
19 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/ Mm% 2% - -~ - -[3mERBZS -~

zh st 1.00 {000 ~ 716 91.07 | #n4 | 000 ~ 716 1.89 10.09 zhst 1.00 | 500 ~ 9.40 91.07 | Thbs | 500 ~ 9.40 | 1.89 10.09
20 100kN/mZE#BZ5| 1.00 000 ~ 014| 102.08 |3m&EEZ5 -~ - - -| 100kN/mMi%EEZ2 | 1.00 | 1070 ~ 1110 102.08 |3mEEZ 3 -~

zhs 1.00 | 014 ~ 793 100.00 | £hs 000 ~ 793|210 11.24 zhilst 1.00 | 500 ~ 1070 100.00| Fhs | 500 ~ 1110| 210 11.24
27 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%E#8 2% - -~ - -[3mERBZS -~

zh st 1.00 | 000 ~ 682 8628 | Fhs |ooo ~ 682 1.87 10.01 zhst 1.00 | 500 ~ 860 86.28 | TnS | 500 ~ 860 | 1.87 10.01
9 100kN/ M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/Mi%# 2% - -~ - -[3mERBZS -~

zh st 1.00 1000 ~ 479 59.68 | NS | 000 ~ 479|213 11.40 zhst 1.00 | 500 ~ 6.60 59.68 | TnS | 500 ~ 6.60 | 213 11.40
29 100kN/MZEBZ 5 - -~ - | 3mEEAD -~ - - -| 100kN/MZEEBZS - -~ - ‘|3mEBZS -~

zhst - -~ - -| Fhust -~ - - - zh st - -~ - -| Fhost -~
24 100kN/MZEBZ 5 - -~ - | 3mEEAD -~ - - -] 100kN/MZEEBZS - -~ - [|3mEBZS -~

zhst - -~ - -| Fhust -~ - - - zh st - -~ - -| Fhust -~
25 100kN/MZEBZ 5 - -~ - | 3mEEAD -~ - - -] 100kN/MZEEBZS - -~ - ‘|3mEBZS -~

zhst - -~ - -| Fhust -~ - - - zh st - -~ - -| Fhust -~
2 100kN/MZEBZ 5 - -~ - | 3mEEAD -~ - - -] 100kN/MZEEBZS - -~ - (|3mEBZS -~

zhst - -~ - -| Fhust -~ - - - zh st - -~ - -| Fhust -~
97 100kN/MZBZ 5 - -~ - | 3mEEAD -~ - - -] 100kN/MZEEBZS - -~ - [|3mEBZS -~

zh st 1.00 1 000 ~ 503 62.71 | NS | 000 ~ 503 | 1.98 10.57 zhst 1.00 | 500 ~ 6.00 62.71 | #hs | 500 ~ 6.00| 1.98 10.57
P 100kN/M%E#B 2% - -~ - -[3mEEZS -~ - - -| 100kN/mMi%E#8 2% - -~ - -[3mERBZS -~

zh st 1.00 1000 ~ 477 5941 | 04 | 000 ~ 477\ 1.76 9.40 zhst 1.00 | 500 ~ 5.00 59.41 | Thbs | 500 ~ 5.00 | 1.76 9.40

100kN/M%E#B 2% ~ 3ImEBRD ~ 100kN/ Mm% B2 5 ~ ImEEBAD ~
zhst ~ zhst ~ zh st ~ zh st ~
100kN/ M%E#B 2% ~ 3ImEBRD ~ 100kN/ Mm% B2 5 ~ ImEEBAD ~
zh st ~ zh st ~ zh st ~ zh st ~
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